Final Exam

Read the following text carefully, and then answer questions 1-8. Your answers
should be based on the text.

When you are using a computer, think about the technology that is needed for it to
work. People have been using types of computers for thousands of years. A
metal machine was found on the seabed in Greece that was more than 2.000 years
old. It is believed that this was the first ever computer.

In the 1940s, technology had developed enough for inventors to make the first
generation of modern computers. One such model was so large that it needed a
room that was 167 square metres to accommodate it. During that decade, scientists in
England developed the first computer program. It took 25 minutes
to complete one calculation. In 1958 CE, the computer chip was developed.

The first computer game was produced in 1962 CE, followed two years later by
the computer mouse. In 1971 CE, the floppy disk was invented, which meant that
information could be shared between computers. The first PC (personal computer)
was produced in 1974 CE, so people could buy computers to use at home.

In 1983 CE, people could buy a laptop for the first time. Then, in 1990 CE, the

British scientist Tim Berners- Lee developed the World Wide Web. It was _
not until 2007 CE that the first smartphones appeared. Today, most people use their
mobile phones every day.

What will happen in the future? You can already buy watches which can do the
same as mobile phones. Scientists have also developed glasses that are
capable of doing even more than this.
Life in the future is going to see further changes in computer technology. It is
likely that all aspects of everyday life will rely on a computer program,
from how we travel to how our homes are heated.

1. The first ever computer was
A. invented in the 1940s

B. was more than 2000 years old
C. 167 square meters

D. was developed in England

2. The disadvantages of the first generation of modern computers were_
A. expensive and complicated

B. large and fast

C. expensive and large

D. large and slow




3. Which piece of information shows that the first computers were very big?
A. it took 25 minutes to complete one calculation

B. information could be shared between computers

C. people could buy computers to use at home

D. it needed a room that was 167 square metres to accommodate it

4. The underlined word “which” refersto
A. computers

B. mobile phones

C. scientists

D. watches

5. Find a word in the text which means “a way of using numbers in order to find
out an amount, price or value”

A. program

B. calculation

C. floppy disk

D. computer chip

6. The first smartphones appeared in
A. 1974
B. 1983
C. 1990
D. 2007

7. The two inventions that are capable to do the same as mobile phones are_
A. computer mouse and computer chip

B. floppy disk and PC

C. watches and glasses

D. world wide web and laptop

8. What are the two aspects that will be affected by technology in the future?
A. cooking and travelling

B. working and studying

C. travelling and heating homes

D. studying and travelling




Read the following text carefully and then answer the question that follows:
In some countries, tablet computers are available for students to use in class.
Therefore, students can use the tablets to do tasks such as showing

photographs, researching information, recording interviews and creating
diagrams. Tablets are ideal for pair and group work.

9. The two methods of learning that tablets are ideal for are
A. showing photographs and researching information

B. recording interviews and creating diagrams

C. pair and group work

D. showing photographs and recording interviews

Read the following text carefully and then answer the question that follows:

Many people are excited about the ‘Internet of Things’. For them, a dream is
coming true. They say that our lives will be easier and more comfortable.
However, others are not so sure. They want to keep control of their own lives
and their own things. In addition, they wonder what would happen if criminals
managed to access their passwords and security settings. The dream could easily
become a nightmare!

10. Find a word which means to find information, especially on a computer.
A. security setting

B. control

C. access

D. comfortable

Read the following text carefully and then answer the question that follows:

Most doctors used to be sceptical about the validity of homoeopathy,
acupuncture and other forms of complementary medicine. Patients used to have to
consult a private practitioner who was likely not to have a medical degree. However,
In recent years, the perception of this type of treatment has changed. These days,
many family doctors study complementary medicine alongside conventional
treatments.

11. Quote the sentence which shows examples of complementary medicine.

A. Most doctors used to be sceptical about the validity of homoeopathy,

acupuncture and other forms of complementary medicine.

B. Patients used to have to consult a private practitioner who was likely not to have a
medical degree.

C. However, in recent years, the perception of this type of treatment has changed.

D. These days, many family doctors study complementary medicine alongside
conventional treatments.




12. The software enables you to ........... the Internet in seconds.
A. expansion

B. floppy disk

C. access

D. keen

13. The mathematician was able to make a mental .............. and didn’t need to
write out the estimate on paper.

A. calculation

B. arthritis

C. allergy

D. setback

14. The hospital has a .................. to provide the best possible medical care.
A. mortality

B. rewarding

C. commitment

D. decline

15. The women were often suffering from other illnesses, including ............
A. filter

B. dementia

C. inheritance

D. geometry

16. Franklin was a renowned .......... and a leading author, printer, political
theorist, politician, freemason, postmaster, scientist and inventor.

A. algebra

B. scales

C. symptoms

D. polymath

17. Medicine companies usually support researches which try to minimize the
................. of many drugs.

A. side effects

B. urban planning

C. bounce back

D. legacy

18. The new model will be in ........cccoeuvvennaeen. by the end of the year.
A. production

B. produce

C. productive

D. productively




19. In some countries it is .cooeeeeeeieieeeeeeeeeeeenne for a bride to wear white.
A. tradition

B. traditional

C. traditionally

D. traditions

20. A number of new products have been...........cccccevvenvennnne. produced.
A. succeed

B. success

C. successful

D. successfully

21. The issue of gun control will ....................... the next election.
A. dominate

B. dominance

C. dominantly

D. dominant

22. First and foremost, we are ................. considering a limited subset of the
potential causes of recent longer-term climate change.

A. intend

B. intentionally

C. intentional

D. intention

23. Those facts were .........coceveeee. in solving the problem.
A. influence

B. influenced

C. influential

D. influentially

24. The government revoked her husband's license to ............. migrant labor
Crews.

A. operate

B. operation

C. operational

D. operationally

25. The title passes by ............. to the eldest son.
A. inherit

B. inheritable

C. inheritance

D. inheritably




26. It never will rain roses. When we want ...... more roses we must plant trees.
A. having

B. to have

C. had

D. has

27. James .......... at the university for more than a year before he left for Asia.
A. had been teaching

B. has been teaching

C. is teaching

D. were teaching

28.Jarash ........coeuneenn. by a thousand tourists last year.
A. have been visited

B. was visited

C. is visited

D. visits

29. The children .................. their homework when I got home.
A. will be doing

B. will have doing

C. were doing

D. was doing

30. Lana cvveeeennnnnnnnnnnnnns the Chinese before she moves to China.

B. had learnt
C. will have learnt
D. has learnt

31. Sami........... in a small house when he was young.
A. use to live

B. was used to live

C. used to live

D. didn’t used to live

32. The managers wishes he............ very angry during the last meeting.
A. wasn’t

B. hasn’t been

C. hadn’t been

D. isn’t




33. Students in Finland go to school for ....... days than students in Japan.
A. short

B. shorter

C. shortest

D. as short as

34. 1 will never forget the day ........ I graduated from college.
A. who

B. when

C. which

D. where

35. Sami didn’t have his computer........... last week.
A. fix

B. fixes

C. fixed

D. fixing

36. The teacher would have corrected our exams if he.......... enough time.
A. has

B. had

C. has had

D. had had

37. Jordanian students are finally used to............. online.
A. learn

B. to learn

C. learning

D. learnt

38. This hotel............... thirty years ago.
A. built

B. is built

C. was built

D. had been built

K1 P three subjects so far.
A. have studied

B. has been studying

C. had studied

D. had been studying




40.Tom has sent the emails on time.
A. The emails were sent on time

B. The emails are sent on time

C. The emails have been sent on time
D. The emails had been sent on time

41. King Abdullah opened the new section of the KHCC in 2017.

A. The year when King Abdullah opened the new section of the KHCC was 2017

B. The year which King Abdullah opened the new section of the KHCC was 2017
C. The year when King Abdullah opened the new section of the KHCC was in 2017
D. The year that King Abdullah opened the new section of the KHCC was on 2017

42.1t is not customary for Ahmad to have more than one exam a day.
A. Ahmad used to having more than one exam a day

B. Ahmad didn’t use to have more than one exam a day

C. Ahmad isn’t used to have more than one exam a day

D. Ahmad isn’t used to having more than one exam a day

43.0ur school support students with intellectual disabilities.

A. Hani said that their school supported students with intellectual disabilities.

B. Hani said that their school has supported students with intellectual disabilities.
C. Hani said that our school supported students with intellectual disabilities.

D. Hani said that their school supports students with intellectual disabilities.

44.We asked the maid to clean the kitchen .
A. We will have the kitchen cleaned

B. We had the kitchen cleaned.

C. We have had the kitchen cleaned

D. We had had the kitchen cleaned

45.Janos Irinyi invented the non-explosive match in 1836.

A. The person invented the non-explosive match in 1836 was Janos Irinyi

B. The person that invented the non-explosive match in 1836 is Janos Irinyi

C. The person who invented the non-explosive match in 1836 is Janos Irinyi
D. The person who invented the non-explosive match in 1836 was Janos Irinyi

46. First the burglar pulled out his gun and then he demanded the money.
A. Before the burglar pulled out his gun , he demanded the money.

B. Before the burglar had demanded the money, he pulled out his gun.

C. Before the burglar had demanded the money, he had pulled out his gun.

D. Before the burglar demanded the money, he had pulled out his gun




47..1 intend to repay them the money that they lent me.
A. | am planning to repaying the money that they lent me.
B. I am planning to repay the money that they lent me.

C. I planned to repay the money that they lent me.

D. I plan to repaying the money that they lent me

48. Working in an office isn’t as tiring as working outside.
A. Working outside is less tiring than working in an office

B. Working outside is as tiring as working in an office

C. Working outside is more tiring than working in an office
D. Working outside is more tiring as working in an office

49. When will the meeting take place?

A. Could you tell me when the meeting will take place?
B. Could you tell me when will the meeting take place?
C. Could you tell me when the meeting take will place?
D. Could you tell me when the meeting take place will?

50. They said that Manar is ready for the final round.
A. It is said that Manar is ready for the final round.

B. It was said that Manar is ready for the final round.

C. It was said that to be ready for the final round.

D. It has been said that Manar is ready for the final round.

51. I didn’t pay attention in the lecture.

A. If only | paid attention in the lecture.

B. If only I hadn’t paid attention in the lecture.
C. If only I had paid attention in the lecture.
D. If only I pay attention in the lecture.

92. T wevvvininnnnn all the reports by tomorrow.
A. sent

B. had sent

C. will send

D. will have sent

53. John ............ a new car Yyet. Unfortunately, he doesn’t have enough money.
A. hasn’t bought

B. hadn’t bought

C. doesn’t buy

D. won’t have bought




54. Can you name the man ............ invented irrigation systems?.
A. where

B. who

C. which

D. when

55. We didn’t .....c.eeveenneen. fast food when we were young..
A. used to eat

B. used to eating

C. use to eating

D. use to eat

IO | i SN you, I would consult a specialist.

C. were
D. had been

57. The committee came forward with one ............ solution.
A. viabl

B. viable

C. vieble

D. vaible

58. An educational system which fails to teach basic ........... is seriously
deficient.

A. arithmetic

B. arethmetic

C. arethmitic

D. arithmetik

59. In East Germany learning Russian was .............
A. combulsory
B. kompulsory
C. compulsory
D. compolsury

60. In 1999..... Jordan imported oil from Iraq.
A,

B
c. ,
D

10
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11.A 12.C 13. A 14.C

21. A 22.D 23.C 24. A

31.C 32.C 33.B 34.B
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5B 6.D 7.C

15.B  16.D 17. A

25.C 26.B 27.A
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51.C 52.D 53.A 54.B

55.D 56.C 57.B
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